Chapter 38, pgs 161-162 Capacity
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Page 161 1. ) A=5x3x1 B=4x5x1 C=6x3x1 D=3x3x1
A= 15em? B=20em} €= 18em’ D=9em’ (9 15x1x1
@5%2x2  @3X3X2 ()18 cubes
2 @S’ @)wo 2x4x1 WEX1x1
3. @A=2dem’  B=24em’ C=2dem’ D =24em’ They all have the same volume.
) A and C are identical. B and D are identical also.
(€) Cube B/D. B is pictured on a base of cubes and D) is on a base of 12 cubes.
Page 162 1. (3) 6dem? (b) measure length X width x height
2.0 @ 200cm’/ 200ml ) 1200cm® /1200ml (@ 360cm’ /360ml an @ 021 @y 121
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